
 

Mat1375 HW I

X intercepts

2,0 3,01

y intercept

0,2
VA 32

H.A 4 2

Formula fix 1 deg p 2 deg q

qX By Weknow VA occurs at roots of fex
since therootsof fex are 3 and 2 then

g X 3 XT

p x By Weknow f 2 Pq 0 and f 3 0

Then PR 0 p 3 0 whichmeans

2 and 3 are roots of Pex
PA has factors x 2 and1 3

Let p x C x 2 x13

fix By we know f o

2 710 c

Also recheck it by degp degq
then H.A.is Y 2



y
X intercepts 1,0 1,0

y intercept 0 1

V A X 2 2

H.A 4 4

fex By Weknow v A occurs at roots of fex
since therootsof fex are x 2 and 1 2 then

g x 2 Xt

PX By we know fu Pq 0 and fats 0

Then Pll O P T 0 whichmeans

I and I are roots of Pex
Pe has factors X 1 and XI

Let p x C XD XT

A By weknow for I

1 40 41391g
I e 4

Also checkby H.A degpas degcqexs

H.A is y 4



X intercepts 1,0 2,0

y intercept 0 2

VA 1 3

H.A Y 3

fex By Weknow v A occurs at roots of fex
since therootsof fex are x 1 and 3 then

g X1 1 3

PX By we know f l f 0 and fer 0

Then P 1 0 p 2 0 whichmeans

1 and are roots of Pex
Pe has factors A1 and X2

Let p x C X1 x2

A f By weknow for 2

to

2 3 3 text
Also checkby H.A degpas degcqexs

H.A is y 3



X intercept 2,0

y intercept 10,2

VA X 5t
HA 4 0

fex By Weknow v A occurs at roots of fex
since therootsof fex are x 2 1 and 3 then

g X 2 XD 4 3

PX By we know f 2 0 then P1 2 0 means

2 is a root of pox Pe has factor 2

Let p x C X2

FIX By weknow 10 2

2 710

2 6
x



X intercept 4,0

Y intercept 10,1
VA X 6 X1 2

H.A 4 0

fex By Weknow v A occurs at roots of fex
since therootsof fex are x 6 x 1 and 2 then

fix x 6 Xt Xt

PX By we know f 4 0 then P 4 0 means

4 is a root of pis Pe has factor X 4

Let p C X4

Fx xs Byo we know fo 1

Kfco Feises as

1 E



X intercept 2,0

y intercept 0 4

VA 4 1 1

H.A 4 0

fex By Weknow v A occurs at roots of fex
since therootsof fex are X 4 andX 1 then

g X 4 X 1 XII

PX By we know ff 4 8 0 then P14 0 means

4 is a root of pox Pe has factor Xt4

Let p x C 4

Fx fe c
Bye weknow to 4

4 710 D Fit c

4 Then fat



501 a fix
Domain All real numbers but 5 0 440 5 4

XE 0 5 U 5 4 U 4,0

Removablediscontinuity X 4 0 X 4 for fix

f 4 removablepoint is 4,4

for
Domain All real numbers but 340 5 0 3 5

XE 0 3 01 3,5 U 5 A

Removable discontinuity X 5 0 x 5 for fix 133

f 5 removablepoint is 55

a fat
Domain All real numbers but xt3 0 2 0 6 to

2

XE 0 3 U 3,2 Uk 6 0 6 a

Removablediscontinuity X 2 0 X 2 for fex

f 2 zg
removablepointis 2

2



d fo 2

Domain All realnumbers but 3 4
XE 0 4 U 4 3 0L 3 D

Removable discontinuity 4 0 4 for fix 3
f 1 removablepoint is 4

Sol Let p x 2 3 9
2 20 21 fex 2

2
3 4 fex

Let gex text betwo polynomials such that
p qex.ge

2 23 4 9 20 21
By longdivision we have

PM q Xt 2 3
2

1 Lege 2
6 2 13 4

Y 6 is a slant asymptoteof f


